Timestable Challenge x1

Here is a multiplication grid.
Fill in the missing numbers.

2 x =16 |l 2 = x2 || % 11 P
2 |12 v
X2=6 2 X 0
il
14 = X2 x2=8 48
Here is a number pyramid.
The number in a box is the =
- - roduct of the two numbers
2x =22 2x =20 Eelaw it. Write the missing
numbers;
_ 000 _ \

4 = X2 ... 3X =6 “d 12
x2=18 =2x8 2 1
x2=10 x5 =10 N

“*x\\‘ "
000000
x2=24 eeooeee 12- X 18 2
12 = x2 || 2x =9x 9




Timestable Challenge x2

If you know that 2 x 3 =6, you know that 2x 6 = D

If you know that 14 =7 x 2, you know that

If you know that 10 =5 x 2, you know that

If you know that 11 x 2 is equal to 22,

what is 22 x 2 equal to? D

2x3=6 2x6= 2x12 = 2x 24 =

lex2=32 | 8x2= 4dx2= 2x2=

|
How many 2s are

l 1

' | | i th in 187
%2+2+2+2+2+2+2+2=21~: ! erein

i I

How many 2s are

2+2+2+2+2+2=2x there in 247

!
!
|
—

Mike says,
‘Every multiple of 2 ends in 2’

Is Mike correct? YES/NO  Explain how you know:




Here is a multiplication grid.
Fill in the missing numbers.

3 x =9 |13 = x3 || X [4]|3 |6 _
4
9
x3=0 3x =27
8 12
15 = X3 x3=24 >
Here is a number pyramid.
The number in a I:II:;!I; is the \\_\k
- - roduct of the two numbers
3x =36 3 x =30 Eel-::u'.'.' it. Write the missing
numbers:
12 = x 3 3 x =6
6
x3=18 =9x3 2
x3=33 x7=21
\‘xx .
elolelole
x3=21 OO000O 15= X 24
O0CO0
b = X3 3x =8x 3




Timestable Challenge x 4

}

3 X

l12x3 X2
A
A
3x2 2x |




4 x =16 52 = x4 +4=50
x 4= 40 +4=20 x 4= 80
Here are some multiplication wheels. To complete them,
48 = X 4 multiphy the number in the middle by numbers in the next
circle:
4 x =12
36 + =4
x4=8
%‘P\;l If you know that 10 x 4= 40, you know that 20 x 4=
x4=24 O
Oy | If you know that 8 x 4= 32, you know that 8 x 8=
+4=7 “3 | If you know that 12 x 4= 48, you know that 12 x 8=
;“':f;_ If you know that 10 x 4= 40, you know that 10 x 8=
44 = x4




Timestable Challenge x 4

' N ~ ™\
dx7=28 I5=4x90 48+ 4 =12

Write 3 other Write 3 other Write 3 other

facts that you facts that you facts that you

can derive from can derive from can derive from

the one above: the one above: the one above: /"' \\.
1. 1. 1. How many different
2. 2. 2. factor pairs can you
3. 3. 3. generate for the

following number?
48

Here are some multiplication grids. Fill in the missing numbers:

X 7 X | 8 3

[y

il 12 8

26 12 48

11 66 40 e’,f"

Joseph says,
‘Every multiple of 4 is also a multiple of 8’

Is Joseph correct? YES/NO  Explain how you know:




Timestable Challenge x 5

Below is a number function machine. Can you fill in the gaps, using
your knowledge of the 5 times tables? The first one is done for you.

15




Timestable Challenge x5

s, Mrs Jones had 7 children. She wanted to

3 give each one of them £5 to spend at the
fair. How much money would Mrs lones

need?
T
|
1
S £5 £S5 5 E5
Here is a numbser pyramid.
::'"“ The number in 2 o is the produc of the twos
“ | 158 = 45, what is5 x 182 Explain how numbers below it Writs the mizzing
you worked it out:
@
s 15 10
|
s
oy | What are five lots of 127 5

-*'n-,__'
"y | Whatis 5x5x 57
| What are the next two numbers

< | in this sequence:

120 115 110 105
2 . T A
.y | How many fives are there in 357 D 3 20
£,
“.3 | How many fives are there in 657 5 1




Timestable Challenge x6

bx

42

Here sire some multiplication
] triangles. Fill in the gaps

Xxb6=30

What division fact does this

array show: 200000
L L LY L1

Hereis a

nwmiber
pyr=miid.

The niwmiber
in = box is the

product of
the two -

riumibers
below it
Wirite the

missing
numbers:




Timestable Challenge x6

Ifyouknowthat 2 x6 =12, you know that 2 x 18 =

If you know that 24 = 6 x 4, you know that

How many 65 are

=12x4 || therein 54?7

If you know that 10 x 6 is equal to 60,

what is 20 x 6 equal to?

b+b+0+6+b +0+6 = 0OX

How many 65 are
therein 247

bx2=12 bxd= 6x8=

Bx1le=




Timestable Challenge x 7

o - “
7 X -42 || 49:7-= 4 ™ .
ZE=Tx 4 S6= T=06
write 3 other Write 3 other
= . _ facts that you facts that you
x7=63 28+ =7 can derive from can derive from
the one above: the one above:
1. 1.
2. -
84- x7 *7 =3 s 3.
N AN f___f’
7% =56 63+ 7= Circle all the multiples of 7 below:
13 21 32 35 58 63 74
??= X ? = ? =
g4 a6 103 140

Mrs Cooper had 67 pencils to sort into

Here is 2 multipliction grid.
Fill im the missing numbers.

boxes of 7. How many boxes will she be
able to fill?

X

What are seven lots of 167 Explain how
you worked it out:

5

12

84

o6

45




Timestable Challenge x 7

% True or false: | | True or false:
b3+7=0b4+8 Tx7+6=11x5
Explain how you know: Explain how you know:

Paul says,

‘If the digits in o two digit number can add up to be equal to 7, the
number is a multiple of 7.

Is Paul ‘s statement always, sometimes or never correct? Explain how you know:

Here are some multiplication wheels. To complets them,
miultiply the number in the middle by numbers in the et




Timestable Challenge x 8

8 X =16 f2+8= g5 =88 || 248 =
_ | ' what ™
X8=48 56 + =8 multplication fact
does this array
. show?
—
32 = X 8 +8 =5 kY
. oy
Here are some multiplication
trianghes. Fill in the gaps
b i o h“-\.
.;_-“\-\. Wh . E E? '.I g . -ll-l-._-' -\._'.
: atis B x B1 - ¢ A
4 /48
_.-"l h'.
&, What is the next number in this s A
“ | sequence: ST =N
32 40 48 56 &4 lrf M
/ ",
2 ( 8 X )
2 | How many eights are there in 247 . A
.-""h,_ | ."'-..- B RH-\.
-~ | How many eights are there in 887 A A
; \
'-h-\. .-"-Il-. M.l
“.u | How many eights are there in 647 f," . . N‘“HR
N / *,
Eal, ¥’
& : - 2 x
= | How many eights are there in 1047 | 7 X 2 .




Timestable Challenge x8

88 = X8
Draw a line to match the corresponding maths facts:
ra “
v e T ) o W Y E X =4E
B+B8+8+8
% A
- x 64 + =8
Wl Wk Bk *~.
v PP T S T ‘
2+9+9 32
. A . J x8 = 32
g - -
X8 =96
LENL 2
X b+b+b+0 J

||3x5|

|1I]1-LE |
2x8 | 16 + 7 x




Here is a multiplication grid.
Fill in the missing numbers.

X 8
9 x -54 || 72:0-= — 1
3 21
Xx9=27 Cq =~ =10 9 |81
32
63 = X9 =Q =7
x | 11 7
9x =81 || 108+ 0= 78
12 96
108= X9 g = =1
99
X9 =36 +9 =90 Here is a number pyramid.
The number in & bou is the product
of the two numbers below it. Write
thie missing numbers:
=0x3
Below, draw an array to show what5x 9 = 18




On the grid below, highlight all of the multiples of 5.

2

3

&

5

b

7

i

g

10

12

13

14

15

]

7

18

11

20

21

12

21

14

25

2t

27

28

29

an

a1

32

33

34

33

It

ar

33

=

40

41

42

43

44

45

4

47

48

45

50

a1

)

3l

a4

35

3y

LTy

a8

1

4l

a1

2

43

L

3

b

b

]

&4

To

i

T2

T3

74

TS

T

T

ro

7

an

1

a2

a1

4

BS

il

BT

B4

an

a0

7N

92

91

94

9%

B

ar

98

94

100

2

d

What patterns can you notice in the
multiples of 97 Describe these below, using
mathematical vocabulary where possible:

Below is a number function machine. Can you fill in the gaps, using
your knowledge of the 9 times tables? The first one is done for you.

12

36

72

27

108




Timestable Challenge x10

3 x =30 20 = x 10 +10=5
x10=110 +=7=10 x 10 =160
Here are some multiplication wheels. To complete them,
60 = x 10 multiply the number in the middle by numbers in the next
circle:
."":E-h‘
10 x =60 i
90 + =9
x10=40
A % | Ifyou know that 4 x 10 = 40, you know that 4 x 20 =
x10=120 | 2
| If you know that 8 x 10 = 80, you know that 8 x 20 =
=10=10 R % | Ifyou know that 12 x 10 = 120, you know that 12 x 40 =
o | fyou know that 3 x 10 = 30, you know that 3 x 20 =
90 = x 10 '




Timestable Challenge x10

Gavin says,
If I need to muitiply o number by 100, | can multiply it by 10 and then
multiply my answer by 10 again.’

|s Gavin right?
Explain how you know:

4

How many tens are there in 1007

Here are some multiplication
triangles. Fll in the gaps

Whatis 10 x 10 x 107

iy '\
What is the next number in this 4{%}' f

sequence: _.-""; ,
600 60 6 0.6 I Y

S &

How many tens are there in 407

4
| \‘\
N _f"’ff#

"Q‘\__ How many tens are there in 3007 .
/ \
1
% How many tens are there in 1907 ff ‘1\
H}"\ .l".rf —_ _ -'.k'“'-._k
“"\_J How many tens are there in 8,6007 / ) ) ».\
f 12 x 10 0




Timestable Challenge x11

3 x =33 0 = x 11 11 x =143
x11=121 11 % =66 x11=33
66 = x 11 e N N
8x11=88 110 =11 x 10 44 +4=11
Write 3 other Write 3 other Write 3 other
11 x =132 facts that you facts that you facts that you
can derive from can derive from can derive from
the one above: the one above: the one abowve:
1. 1. 1.
99 = =9 2. 2 2.
3. 3 3.
I i
N AN SN
"_'_-'"- L_--" .I_I.-"-
x7=77
Here are some multiplication grids. Fill in the missing numbers:
x11=110 X | 12 4 X 11
36 9 gl
+11=12
2 48 132
99 = x 11 a4 1l g | A




Timestable Challenge x11

2

—
5 | Wyouknow that 7x 11 = 77, you know that 77 + = 11

If you know that 11 x 4 is equal to 44, what is 22x 2 equal to?

Fill in the answers:

11x2=22 | 11x4=

11x8=

11 x 16=

121+11= | 99+11=

11+11=

110+ 11=

Harriet says,

Is Harriet correct?

I think of a number and multiply it by 11. My answer is 86."

Explain how you know:

|11x6

12

IB}(

IE}(ll

A

x2|

A



Timestable Challenge x12

Here is a multiplication grid.
Fill in the missing numbers.

X | 7 9
12 x =72 0 = x12 12 132
42 o4
x12=120 12 x =48
33
96 = X 12 x12=132
Here iz a numbear pyramid.
The number in a box is the
product of the two numbers
12 x =36 12 X = 96 below it Wrrite the missing
numbers: %
i |
84= x 12 12 x =108 af 72
o e 12
x12=120 |[3333888800ss =12x5
x12=24 x12 =36
x12 =60 12 x =7x 36
144 = x 12 96 =+ =12 ‘ 3 ‘ ‘ 1 ‘




Timestable Challenge x12

Here are some multiplication wheels. To complete them,
multiply the number in the middle by numbears in the next

Louise says,

Is Louise correct? YES/NO  Explain how you know:

‘If I double the answer to 3 x 12, I will get the answer to 6 x 12.”

Here are some multiplication triangles. Fill in the gaps

12x12 =

=12




